
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

1707.7 × 0.01 = ________ 2210.8 × 0.0001 = ________

1360.6 × 0.0001 = ________ 2280.6 × 0.001 = ________

7150.6 × 0.001 = ________ 8865.1 × 0.1 = ________

1341.6 × 0.1 = ________ 4235.2 × 0.0001 = ________

3742.3 × 0.1 = ________ 3249.3 × 0.001 = ________

1361.4 × 0.1 = ________ 4641 × 0.0001 = ________

1297 × 0.1 = ________ 7480.7 × 0.0001 = ________

7263.7 × 0.1 = ________ 7686.4 × 0.001 = ________

7328.3 × 0.1 = ________ 4170.3 × 0.001 = ________

1982 × 0.001 = ________ 9171 × 0.1 = ________
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

1707.7 × 0.01 = 17.077 2210.8 × 0.0001 = 0.22108

1360.6 × 0.0001 = 0.13606 2280.6 × 0.001 = 2.2806

7150.6 × 0.001 = 7.1506 8865.1 × 0.1 = 886.51

1341.6 × 0.1 = 134.16 4235.2 × 0.0001 = 0.42352

3742.3 × 0.1 = 374.23 3249.3 × 0.001 = 3.2493

1361.4 × 0.1 = 136.14 4641 × 0.0001 = 0.4641

1297 × 0.1 = 129.7 7480.7 × 0.0001 = 0.74807

7263.7 × 0.1 = 726.37 7686.4 × 0.001 = 7.6864

7328.3 × 0.1 = 732.83 4170.3 × 0.001 = 4.1703

1982 × 0.001 = 1.982 9171 × 0.1 = 917.1
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